
Решить уравнения и неравенства для всех значений параметра. 

а) 𝑎2𝑥 − 5 − 𝑎 = 25𝑥;                  б) 
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Вариант I. 

а) аххаа 24 2  ;   

б) ; 

в)  
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Вариант II. 
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Вариант III. 
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в) 
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Вариант IV. 

а) ;  
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в) 
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Вариант V. 

а) ; 
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в) 
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Вариант VI. 
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а) ;  

б)  

в) 
12𝑥+𝑘

𝑥+2
< 0. 

 

Вариант VII. 

а) (𝑎2 − 𝑎)𝑥 = 𝑎 + 3;  

 б)  

в) 
3𝑥+9𝑎

𝑥−5
≥ 0. 

 

Вариант VIII. 

а) ;  

б)  

в) 
15𝑥+5𝑏

2𝑥+2
≤ 0. 

 

Вариант IX. 

а) 2(𝑎 − 2)𝑎𝑥 ≥ 𝑎 − 2; 

б)  

в) 
3𝑥+12

𝑥−6
≥ 0. 

 

Вариант X. 

а) ;    

б) ; 

в) 
𝑥+𝑘

3𝑥−7
< 0. 

0
92






ax

x

1)2(3  aххa

( 2) 2
2 1

1 3

a x
x

a


  



хаxа 2

2 1 1 2 3

1 2( 1) 1

x x x

m m m

  
 

  

3 4

1 8

ax x

x ax

 


 

2

1а x аx а  
22

(3 1) 2 4

2
0

x m x m m

x

   





